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T H E  
C O L L È G E  S A I N T  S P I R E  

G L O B A L  W A R M I N G  

There is a relation between the 

global warming and the greenhouse 

gas like methane or carbonic acid 

gas. Most people use a car to go to 

their jobs. The people will can use 

carpool to go to their office. I think  

that the carpooling or the public 

transport are a good alternative. They 

produce a far less pollution due to it  

on one vehicule transport more 

people and the public transport use 

electricity. 
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MAJORITY MODES OF TRANSPORTATION 
USED TO GO TO WORK

Due to global warming, ocean levels have risen 

by 10 centimeters in 50 years. COP21 has set it 

self the goal of ensuring that the temperature of 

the Earth does not increase more than 2 

degrees. If we do not change our way of life as 

long as we are still there, we risk making the 

Earth a hostile place to live. We must change 

our way of life if we do not want the Earth to be 

unlivable for our children. We must react quickly 

and change all that before it is too late.

We must avoid using the fossil fuels we have left. 

Prefer public transport to the car. Try to use more 

renewable energy like water, the sun, the wind that 

will never miss unlike oil whose men are finishing 

the last few liters. Simple everyday actions like 

turning off the light when you're out of the room or 

not letting the water run for too long can help keep 

the Earth in good health.


